Challenge Thursday 25.02.2021 Compare Number sentences

1.

QIO

00000

5+4

Is more than

is less than

.’ Which card completes the number sentence?

' 10/0000

is equal to

QOO

445

2 . Use <, > or = to compare the number sentences.

3.

correct.

13-5<13—__
6-4=__+4
94+__>9+1

. Choose the correct digit card to make the number sentences

gjoie




Any number less than 11
would make this correct.

F+N<7?+__

Do you agree with Alex?

Explain why.

ok Whitney has 16 sweets and
- eats 7 of them.
Mo has 17 sweets and eats 8 of
them. =

Who has more sweets left?

Explain how you know.

Dexter is working out which symbol to
use to compare the number sentences.

Ig 14-5 () 14+5

The missing symbol
must be = because all
of the numbers are the

same.

Do you agree with Dexter?
Explain why.



